| Efficiency vs Dxy |

X

©
D.45
>

30.4F
Q

........................................................................

OJ-'\-Q IIII;IIII;IIII;IIII;III ;HII!IIII;IIII;IIII;IIII

0.95

—2520151050 510152025

TP dxy (cm)

Fit6_TTrew- TOWD

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

V4
©c © o
o N @

efficiency vs d

o
(&)

o
[

o
~
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.2

.....................................................................

....................................................

...........................................

20 =10 0 10 20 30
TP dz (cm)

K
KFIt_TT NEWdefauIt _specPLess1-lowpt
kFit EWdefault”specPLess2-lowpt
kEit EWdefault"specPLess3-lowpt
kFit_TT_NEWdefault_specPLess4-lowpt




	Contents
	Page 1


